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1 0Ob2 0,367.70 52 L 20 2.50 150 1 1 256.88 258.96 256.83 na fad B NE NE NE
2 0Ob3 0,679.10 376 P 30 2.00 150 1 1 269.26 271.86 269.20 na fad B NE NE NE
3 Ob4 0,711.90 1823 P 27 1.50 150 1 1 269.74 272.14 269.70 na fad B NE NE NE
4 0Ob5 0,762.60 1856 P 175 2.00 150 1 1 271.05 273.05 270.70 na fad B NE NE NE
5 Ob6 0,830.00 1866 P 313 1.50 150 1 1 272.83 274.83 272.36 nafadB NE NE NE
6 Ob6a 0,835.40 parc.¢. 3901 L 205 2.00 150 1 1 272.90 274.90 272.49 na fad B NE NE NE
7 Ob7 0.983.50 371 P 53 1.50 150 1 1 275.89 277.89 275.81 nafadB NE NE NE
8 0Ob8 1,007.90 1375 P 47 1.50 150 1 1 276.32 278.42 276.25 na fad B NE NE NE
9 0Ob9 1,049.60 2154 P 53 1.50 150 1 1 277.08 279.08 277.00 nafadB NE NE NE
10 0Ob10 1,092.50 2095 L 60 2.00 150 1 1 277.90 279.70 277.78 na fad B NE NE NE
11 Ob10a 1,102.40 parc.&. 3965/4 L 26 3.50 150 1 1 278.05 279.55 277.96 na fad B NE NE NE
12 Ob11 1,115.60 2056 P 53 1.50 150 1 1 278.38 280.38 278.30 na fad B NE NE NE
13 Ob12 1,125.30 2097 P 188 2.50 150 1 1 278.84 280.84 278.37 na fad B NE NE NE
14 0Ob13 1,147.10 o 2100 P 213 1.50 150 1 1 279.66 281.66 279.34 na fad B NE NE NE
15 Ob13a 1,172.10 m 2255 P 280 1.50 150 1 1 281.22 283.22 280.80 na fad B NE NE NE
16 Ob14 1,230.50 % 2071 P 170 2.00 150 1 1 285.39 287.39 285.05 na fad B NE NE NE
17 Ob15 1,291.00 ' 1036 L 347 1.50 150 1 1 289.12 291.12 288.60 na fad B NE NE NE
18 0Ob16 1,284.10 [aa] 1970 P 295 2.00 150 1 1 288.86 290.86 288.27 na fad B NE NE NE
19 Ob17 1,324.50 § 396 L 31 8.70 150 2 1 289.90 292.10 289.63 na fad B ANO 2.00 NE NE
20 0Ob18 1,437.80 8 709 P 31 7.80 150 1 1 291.00 293.00 290.76 na fad B NE NE 7.80 NE
21 0Ob19 1,438.80 v 395 P 20 5.50 150 1 1 290.93 292.73 290.82 do $achty B46 NE NE 5.50 NE
22 0b20 1,448.00 841 L 65 8.00 150 1 1 291.34 293.34 290.82 na fad B ANO 1.80 NE NE
23 0Ob21 1,516.30 846 L 51 4.5 150 1 1 291.44 294.14 291.21 na fad B ANO 2.50 ANO ANO
24 0b22 1,505.50 758 P 36 5.00 150 1 1 291.33 293.83 291.15 na fad B NE NE 5.00 NE
25 0b23 1,510.10 397 P 34 5.00 150 1 1 291.45 293.65 291.18 na fad B NE NE 5.00 NE
26 0b24 1,553.40 2030 P 96 8.00 150 1 1 292.20 294.20 291.43 na fad B NE NE 8.00 NE
27 0Ob25 1,560.50 1806 P 27 8.00 150 1 1 291.69 294.39 291.47 na fad B NE NE 8.00 NE
28 0b25b 1,617.10 parc.£. 4150/4 P 400 7.50 150 1 1 294.79 297.39 291.79 na fad B NE NE 7.50 NE
29 0b25¢ 1,650.40 parc.. 4150/4 P 242 5.50 150 1 1 293.57 295.57 292.24 na fad B NE NE 5.50 NE
30 0b26 1,657.00 155 P 233 5.50 150 1 1 293.71 295.71 292.43 na fad B NE NE 5.50 NE
31 0b27 1,698.10 1873 P 22 8.50 150 1 1 293.76 296.76 293.57 na fad B NE NE 8.50 NE
32 0b28 1,759.90 864 L 95 4.00 150 1 1 295.58 298.58 295.20 na fad B ANO 2.80 NE ANO
33 0b29 1,773.60 1895 L 392 4.00 150 1 1 297.08 299.08 295.51 na fad B ANO 1.80 NE ANO
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34 0Ob31.1 0,068.90 o 1972 P 310 3.00 150 1 1 297.45 299.85 296.52 na fad B2 NE ANO ANO
35 0Ob31 0,050.10 m 1598 L 29 4.50 150 1 1 296.51 299.41 296.38 na fad B2 NE NE NE
36 0Ob32 0,072.70 =2 1594 L 35 4.00 150 1 1 296.68 299.48 296.54 na fad B2 NE NE NE
37 0Ob33 |0,081.20 o 1909 P 383 3.00 150 1 1 297.75 299.95 296.60 na fad B2 NE NE NE
38 Ob34 0,090.50 r\ll 953 L 300 4.00 150 1 1 297.87 299.87 296.67 na fad B2 NE NE NE
39 0Ob35 ]0,109.10 o0 2006 P 380 3.00 150 1 1 297.94 300.34 296.80 na fad B2 NE NE NE
40 Ob36 |0,135.10 § 1975 P 388 2.50 150 1 1 297.96 300.46 296.99 na fad B2 NE NE NE
41 0Ob37 ]0,183.30 S 2166 P 390 2.00 150 1 1 298.12 300.32 297.34 na fad B2 NE NE NE
42 0b39 |0,230.80 v 1070 P 40 2.00 150 1 1 297.76 300.16 297.68 na fad B2 NE NE NE
43 Ob30 0.555.00 583 - 90 17.00 150 1 1 296.29 298.39 294.76 do Sachty B3-15 ANO 1.90 NE NE
44 Ob41 |0.552.90 403 L 1880 1.00 150 1 1 296.58 298.08 294.70 na fad B3 NE NE NE
45 Ob42 0.543.70 1595 L 1885 1.00 150 1 1 296.57 298.07 294.69 na fad B3 NE NE NE
46 0Ob43  |0.546.50 490 P 317 3.50 150 1 1 295.78 297.88 294.67 na fad B3 ANO 1.90 ANO ANO
47 Ob44 0,488.30 527 L 1350 1.00 150 1 1 295.71 297.71 294.36 na fad B3 NE NE NE
48 Ob44a |0,482.50 parc.c. 3846 P 459 2.70 150 1 1 295.58 297.58 294.34 na fad B3 ANO 1.80 ANO ANO
49 0Ob45 0,439.50 1597 L 1007 1.50 150 1 1 295.61 297.61 294.10 na fad B3 NE NE NE
50 0Ob46 |0,381.60 2148 P 467 3.00 150 1 1 294.87 296.87 293.47 na fad B3 ANO 1.80 ANO ANO
51 Ob47 ]0,381.00 2147 P 460 3.00 150 1 1 294.84 296.84 293.46 na fad B3 ANO 1.80 ANO ANO
52 0b48 0,374.90 203 L 967 1.50 150 1 1 294.81 296.81 293.36 na fad B3 NE NE NE
53 0Ob49 0,380.50 2146 P 457 3.00 150 1 1 294.82 296.82 293.45 na fad B3 ANO 1.80 ANO ANO
54 0Ob50 |0,362.30 283 P 397 3.00 150 1 1 294.55 296.75 293.14 na fad B3 ANO 2.00 ANO ANO
55 Ob51 0.363.50 1470 L 973 1.50 150 1 1 294.62 296.62 293.16 na fad B3 NE NE NE
56 0Ob52 |0,337.90 273 L 690 2.00 150 1 1 294.10 296.10 292.72 na fad B3 NE NE NE
57 Ob53 0.313.50 271 L 927 1.50 150 1 1 293.69 295.69 292.30 na fad B3 NE NE NE
58 0Ob54 0.322.00 268 P 547 3.00 150 2 1 294.09 296.09 292.45 na fad B3 ANO 1.80 ANO ANO
59 0Ob55 0,303.50 25 L 927 1.50 150 1 1 293.52 295.52 292.13 na fad B3 NE NE NE
60 Ob56  |0,300.70 o 267 P 426 3.50 150 1 1 293.57 295.57 292.08 na fad B3 ANO 1.80 ANO ANO
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61 Ob56a [0,290.30 § parc.¢. 4202/4 L 1142 1.20 150 1 1 293.32 295.32 291.95 na fad B3 NE NE ANO
62 0Ob57 |0,268.00 S 763 L 1307 1.50 150 1 1 293.48 294.78 291.52 na fad B3 NE NE NE
63 Ob57a [0,247.90 v L 1050 1.20 150 292.48 294.48 291.22 na fad B3 NE NE NE
64 0b58 0,243.50 895 L 960 1.50 150 1 1 292.54 294.54 291.10 na fad B3 NE NE NE
65 0Ob59 0,214.40 896 L 1350 1.00 150 1 1 291.95 293.95 290.60 na fad B3 NE NE NE
66 0Ob60  |0,205.90 2050 P 406 3.50 150 1 1 291.88 293.88 290.46 na fad B3 ANO 1.80 ANO ANO
67 Ob61 |0,206.60 1309 L 1260 1.00 150 1 1 291.73 293.73 290.47 na fad B3 NE NE NE
68 Ob62 |0,188.50 2053 P 367 3.00 150 1 1 291.26 293.26 290.16 na fad B3 ANO 1.80 ANO ANO
69 0Ob63 0,169.60 2073 P 453 3.00 150 1 1 291.20 293.20 289.84 na fad B3 ANO 1.80 ANO ANO
70 0Ob64 |0,164.20 parc.£. 4218/2 L 1330 1.00 150 1 1 291.07 293.07 289.74 na fad B3 NE NE NE
71 0Ob65 0,152.30 2074 P 513 3.00 150 1 1 291.08 293.08 289.54 na fad B3 ANO 1.80 ANO ANO
72 Ob66 |0,159.40 760 L 1420 1.00 1 291.08 293.08 289.66 na fad B3 NE NE NE
73 0Ob67 0.142.60 250 L 1850 1.00 150 1 1 291.22 292.72 289.37 na fad B3 NE NE NE
74 0Ob68 |0,113.80 2125 P 810 2.00 150 1 1 290.50 292.30 288.88 nafad B3 NE NE NE
75 0Ob69 |0,121.40 890 L 1350 1.00 150 1 1 290.36 292.36 289.01 na fad B3 NE NE NE
76 0Ob70 |0,096.10 2126 P 576 2.50 150 1 1 290.00 292.00 288.56 nafad B3 NE NE NE
77 Ob71 |0,083.00 2127 P 697 3.00 150 1 1 290.31 291.81 288.22 na fad B3 NE NE NE
78 Ob72 |0,061.20 2128 P 409 3.50 150 1 1 289.09 291.09 287.66 na fad B3 NE NE NE
79 0b73 |0,000.90 876 P 175 7.20 150 1 1 287.19 288.99 285.93 na fad B3 NE NE NE
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80 0b74 0.107.50 A 423424 225 2.00 150 1 1 296.60 298.6 296.15 na fad B4 NE NE ANO
o M
= parc.c. 250
81 0b75  0,079.30 O |4234/25 376 ’ 150 1 1 295.21 297.21 294.27 na fad B4 NE NE ANO
82 0b76 [0,051.80 < 1468 400 2.00 150 1 1 293.28 295.28 292.48 na fad B4 ANO 1.80 ANO ANO
83 0b76b [0,064.10 ':; 1591 50 2.00 150 1 1 293.57 296.27 293.47 na fad B4 ANO 2.50 ANO ANO
84 0b77 [0,014.40 ~ 1888 205 2.00 150 1 1 290.46 292.46 290.05 na fad B4 NE NE NE
85 0b78  [0,005.10 % 695 195 2.00 150 1 1 289.83 291.83 289.44 na fad B4 NE NE NE
86 0Ob78a |0,004.00 parc.t. 4183 20 9,00 150 1 1 289.60 291 289.42|  do gachty B4-1 NE NE NE
CELKOVA DELKA ODBOCEK (m) 275.30 CELKOVA DELKA CHRANICEK (m) 66.30
CELKOVY POCET SACHTICEK, ODBOCEK A VLOZEK (ks) 77 | 9 | 8 | o | 1 4|
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